AMERICAN STANDARD LONGBOARD STRATOCASTER® LTD ED

©0 (0171506721)
@ PARTS LAYOUT
(4X(5) !
(6) !
e
© 7)8
©
(o]
(o]
\ o
(o]
o O
1
O
. 29)(30)31
[¢)
28)29)30
[0) @ [©)
25)26 WBE 33)(34
27 Sooo0o00 *
@f( 00 0 0 0c0 QYQ 14X19N16 39
*{ o0 © @ ©0 17)X18)19
@®
m &
- ® g
23)24

35)36 )37
® Page 1 of 5
?%@Z% COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION Mar 13, 2015 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD LONGBOARD STRATOCASTER® LTD ED

(0171506721)
PARTS LIST
REF# DESCRIPTION PART

NUMBER

1 BODY LTD ED LONGBOARD STRAT 7707567521
2 NECK ASSY LTD ED LONGBOARD STRAT 7707568000
3 KEY GTR 2 PIN MTG SHORT 0058142000
4 KEY GTR DUAL PIN MNT 0990820100
5 WASHER KEY 0053106049
6 BUSHING KEY 0058820049
7 STRING GUIDE TREE AM STD 0021537000
8 SCREW SMAB 3 X 3/8 RHP ZA CHROME 0021405049
9 NECK PLATE LTD ED CHROME W/TILT 0080684000
10 SCREW SMA 8 X 1-3/4 OHPH ZARTAN 0021424049
11 SWITCH 5-WAY LEVER W/METAL 0991367000
12 SCREW 6-32 X 5/8 RHP ZARTAN 0994925000
13 KNOB P/U SWITCH VINT AGED WHT 0994938000
14 KNOBS STRAT 1 VOL 2 TONE AGED WHT 0991369000
15 CONTROL 250K SPLIT SHAFT 3/8” 0061293000
16 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
17 WASHER LOCK INTL 3/8 X .687 0016436049
18 WASHER FLAT 3/8 X .614 NI 0031153049
19 CAPACITOR MPF RDL .022uF 250V 10% 0024832049
20 JACK PHONE OPEN CIRCT 11 0021956049
21 FERRULE JACK RECESS FOOTBALL CHROME 0050100000
22 SCREW WOOD 4 X 1-1/4 RH ZA 0021408049
23 BRIDGE ASSY SUBSONIC HARDTAIL 0058420000
23A | BRIDGE PLATE NON TREMOLO 0032911000
23B | SADDLE CC STRAT SS POLRH CC 0058084000
23C [ SCREW MACH 4-40 X 5/8 PHP BLK 0017031049
23D [ SPRING BRIDGE 4 COIL 3/8 BLACK 0019394049
23E | SPRING BRIDGE 3 COIL 1/4 BLACK 0019395049
23F | SCREW HEIGHT ADJ 1/4 0026779049
23G | SCREW HEIGHT ADJ 5/16 0026780049
24 SCREW SMA 8 X 1 OHP ZA 0021373049
25 PICKUP ASSY SB-2 ZEBRA 7707957000
26 TUBING LATEX CUT .550 X 1/8 ID X .250 OD 0039410000
27 SCREW MACH 3-48 X 13/16 RHP #4 HEAD ZA 0050166049

*= NOT PICTURED IN DIAGRAM
Page 2 of 5

?%@[% COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION

Mar 13, 2015 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD LONGBOARD STRATOCASTER® LTD ED

(0171506721)
REF# DESCRIPTION PART

NUMBER
28 PICKUP ASSY STRAT NK ALN325 AGED WHT 0993115003
29 TUBING LATEX CUT .300 X 1/8 ID X 1/4 OD 0994916000
30 SCREW SPECIAL MACH 4-40 X 13/16 #5 HEAD RHP ZA 0063396049
31 PICKUP ASSY STRAT MID ALN325 AGED WHT 0993115002
32 COVER CNTRL LONGBOARD STRAT BLK 7707584000
33 SCREW SMAB 2 X 1/2 FHP BLX 9280530407
34 BACK PLATE STRAT LONGBOARD BACK LOAD CLEAR 7707583000
35 STRAP BUTTON CHROME 0063267049
36 SCREW WOOD 6 X 1 OHP NI 0016188049
37 WHITE FELT WASHERS 0994930000
38 SCREW SET 1/4-20 X 3/8 OP NI HEX 0031571000
39 FERRULE STRING RETAINER CHROME 0994917000
* CASE ABS MOLDED STRAT/TELE 0996105106
* WRENCH 1/8 X 1-1/4 X 2-3/4 HEX 0023811049
* WRENCH .050 HEX KEY SHORT ARM 0018531049
*= NOT PICTURED IN DIAGRAM

Page 3 of 5

?%@[% COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION

Mar 13, 2015 - Rev. A



http://www.fender.com/
http://www.fender.com/

AMERICAN STANDARD LONGBOARD STRATOCASTER® LTD ED

5-WAY

SWITCH

RED WIRE
FROM BRIDGE
PICKUP

BLUE WIRE
FROM MID
PICKUP

(0171506721)
WIRING ASSEMBLY

WHITE WIRE—
FROM NECK
PICKUP

GREEN & BARE WIRE

FROM BRIDGE PICKUP

GREEN & BLACK FROM
NECK & MID PICKUP

Tkadbes  NECK PICKUP
O O 0ocO O O [Ho

T~ BLACK & WHITE

OUTPUT JACK

———— e e S —

WIRE FROM BRIDGE
) PICKUP SOLDER &
SHRINK TUBE

—_———

BLACK WIRE
TO BRIDGE

VOLUME CONTROL

APACITOR .22uF

TONE CONTROL

COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 4 of 5
Mar 13, 2015 - Rev. A



http://www.fender.com/
http://www.fender.com/

MERICAN STANDARD LONGBOARD STRATOCASTER® LTD ED

(0171506721)
SWITCH AND CONTROL FUNCTION

5-WAY SWITCH POSITION

5 4
3 2 | swircH posiTIoN

T1 T1 T1 T1 T1 CONTROL

GED G | ) | ¢ ) | ¢ ) | =— NECK PICKUP

CO|G» e @ | < MDDLE PICKUP

N 33| B | @B| = BRIDGE PICKUP
/\I
O
@D P|CKUP IS ON % INDICATES POSITION
OF 5-WAY SWITCH
CO PICKUP IS OFF 1
o O
O
O
[e)
[0)
2
NECK PICKUP § 3
¥ 3
1

MIDDLE PICKUP /> »e(Foooop)

BRIDGE PICKUP

MASTER VOLUME

MASTER TONE (T1)

® Page 5 of 5
?%@Z% COPYRIGHT - 2015 - FENDER MUSICAL INSTRUMENTS CORPORATION Mar 13, 2015 - Rev. A



http://www.fender.com/
http://www.fender.com/

